Rule 3.19A.2

# Appendix 3Y

# Change of Director's Interest Notice

Information or documents not available now must be given to ASX as soon as available. Information and documents given to ASX become ASX's property and may be made public.

Introduced 30/9/2001 Amended 01/01/11

Name of entity	LODESTAR MINERALS LIMITED	
ABN	32 127 026 528	

We (the entity) give ASX the following information under listing rule 3.19A.2 and as agent for the director for the purposes of section 205G of the Corporations Act.

Name of Director	ROSS TAYLOR
Date of last notice	28 November 2016

#### Part 1 - Change of director's relevant interests in securities

In the case of a trust, this includes interests in the trust made available by the responsible entity of the trust

Note: In the case of a company, interests which come within paragraph (i) of the definition of "notifiable interest of a director" should be disclosed in this part.

Direct or indirect interest	Indirect
Nature of indirect interest (including registered holder)  Note: Provide details of the circumstances giving rise to the relevant interest.	<ul><li>Ross Jeremy Taylor (Jamanaro A/C)</li><li>Ross Jeremy Taylor and Natasha Tanya Taylor (Jamanaro Super Fund A/C)</li></ul>
Date of change	22 October 2014- 29 March 2017
No. of securities held prior to change	82,758,346 fully paid shares (Indirect) 1,148,843 fully paid shares (Direct) 8,000,000 unlisted options(Indirect) 54,707 listed options (Direct) 5,607,577 listed options (Indirect)
Class	Fully paid ordinary shares
Number acquired	14,328,955- refer attached
Number disposed	13,180,111- refer attached

<sup>+</sup> See chapter 19 for defined terms.

01/01/2011 Appendix 3Y Page 1

#### Appendix 3Y Change of Director's Interest Notice

Value/Consideration  Note: If consideration is non-cash, provide details and estimated valuation	(\$19,101.62)
No. of securities held after change	83,907,191 fully paid shares (Indirect) 1,148,843 fully paid shares (Direct) 8,000,000 unlisted options(Indirect) 54,707 listed options (Direct) 11,607,577 listed options (Indirect)
Nature of change Example: on-market trade, off-market trade, exercise of options, issue of securities under dividend reinvestment plan, participation in buy-back	On Market trades

### Part 2 - Change of director's interests in contracts - N/A

Note: In the case of a company, interests which come within paragraph (ii) of the definition of "notifiable interest of a director" should be disclosed in this part.

Detail of contract	
Nature of interest	
Name of registered holder	
(if issued securities)	
,	
Date of change	
Ç	
No. and class of securities to which	
interest related prior to change	
Note: Details are only required for a contract in	
relation to which the interest has changed	
Interest acquired	
Interest disposed	
•	
Value/Consideration	
Note: If consideration is non-cash, provide details	
and an estimated valuation	
Interest after change	

Appendix 3Y Page 2 01/01/2011

<sup>+</sup> See chapter 19 for defined terms.

## Part 3 – +Closed period

Were the interests in the securities or contracts detailed above traded during a +closed period where prior written clearance was required?	No
If so, was prior written clearance provided to allow the trade to proceed during this period?	N/A
If Prior clearance was provided, on what date was this provided?	N/A

oı/oı/2011 Appendix 3Y Page 3

<sup>+</sup> See chapter 19 for defined terms.

Trade Date	Buy/Sell	Units	Average Price (\$)	Net Proceeds	Settlement Date
7/11/2014	S	434,375	0.016	6,928	12/11/2014
16/10/2015		55,000	0.029	1,565	21/10/2015
22/10/2015		200,000	0.039	7,770	27/10/2015
22/10/2015		174,687	0.039	6,863	27/10/2015
23/10/2015		375,000	0.039	14,580	28/10/2015
23/10/2015		125,000	0.039	4,845	28/10/2015
27/10/2015		498,611	0.043	21,523	30/10/2015
27/10/2015		300,000	0.043	12,860	30/10/2015
5/11/2015		200,000	0.034	6,770	10/11/2015
9/11/2015		100,000	0.033	3,306	12/11/2015
9/11/2015		10,000	0.03	271	12/11/2015
10/11/2015		10,000	0.032	290	13/11/2015
17/11/2015		50,000	0.032	1,520	20/11/2015
27/11/2015		300,000	0.031	8,070	2/12/2015
3/12/2015		100,000	0.027	2,970	8/12/2015
4/12/2015		15,700	0.033	488	9/12/2015
7/12/2015					10/12/2015
		44,000	0.033	1,452	
8/12/2015		19,730	0.033	651	11/12/2015
9/12/2015		20,570	0.033	679	14/12/2015
15/12/2015		100,000	0.029	2,870	18/12/2015
21/12/2015		100,000	0.031	3,070	24/12/2015
22/12/2015		100,000	0.029	2,870	29/12/2015
24/12/2015		100,000	0.029	2,870	31/12/2015
4/01/2016		100,000	0.03	2,970	7/01/2016
8/01/2016		100,000	0.03	2,970	13/01/2016
19/01/2016		100,000	0.031	3,031	22/01/2016
27/01/2016		100,000	0.029	2,870	1/02/2016
27/01/2016		100,000	0.03	2,970	1/02/2016
2/02/2016		100,000	0.035	3,470	5/02/2016
4/02/2016		100,000	0.027	2,670	9/02/2016
5/02/2016		150,000	0.027	4,020	10/02/2016
15/02/2016		50,000	0.025	1,220	18/02/2016
16/02/2016		50,000	0.028	1,370	19/02/2016
3/03/2016	S	30,000	0.032	930	8/03/2016
7/03/2016		250,000	0.036	8,954	9/03/2016
26/05/2016		300,000	0.023	6,870	30/05/2016
2/06/2016		300,000	0.02	5,970	6/06/2016
3/06/2016		100,000	0.021	2,065	7/06/2016
7/06/2016		100,000	0.021	2,070	9/06/2016
27/06/2016		105,000	0.021	2,175	29/06/2016
29/06/2016		400,000	0.021	8,509	1/07/2016
11/07/2016	s S	41,918	0.023	934	13/07/2016
19/07/2016	S	200,000	0.02	3,970	21/07/2016
12/08/2016		200,000	0.013	2,570	16/08/2016
15/12/2016	S	100,000	0.008	770	19/12/2016
22/12/2016		700,000	0.008	5,570	28/12/2016
1/02/2017	S	1,000,000	0.009	8,970	3/02/2017
14/03/2017	' S	1,000,000	0.01	10,034	16/03/2017
22/03/2017	' S	1,000,000	0.011	10,966	24/03/2017
24/03/2017	' S	1,970,520	0.013	25,537	28/03/2017
24/03/2017	S	1,000,000	0.012	11,963	28/03/2017

Trade Date	Buy/Sell	Units	Average Price (\$)	Net Proceeds	Settlement Date
6/11/2014	4 B	250,000	0.02	5,000	25/10/2014
5/11/2014	4 B	184,375	0.02	3,717	10/11/2014
16/10/201	5 B	25,000	0.029	755	21/10/2015
16/10/201	5 В	30,000	0.027	844	21/10/2015
22/10/201	5 B	374,687	0.041	15,246	27/10/2015
23/10/201	5 В	500,000	0.04	20,062	28/10/2015
27/10/201	5 В	798,611	0.041	32,845	30/10/2015
5/11/201	5 В	200,000	0.037	7,341	10/11/2015
9/11/2015	5 B	100,000	0.034	3,436	12/11/2015
10/11/201	5 B	20,000	0.033	680	13/11/2015
16/11/201	5 B	50,000	0.035	1,780	19/11/2015
19/01/2016	6 B	30,000	0.034	1,050	22/01/2016
16/02/2016	6 B	50,000	0.027	1,393	19/02/2016
17/02/2016	6 B	250,000	0.031	7,666	22/02/2016
17/02/2016	6 B	750,000	0.03	22,244	22/02/2016
18/02/2016	6 B	800,000	0.033	26,358	23/02/2016
7/03/2016	6 B	250,000	0.036	9,030	9/03/2016
26/05/2016	6 B	300,000	0.019	5,730	30/05/2016
1/06/2016	6 B	300,000	0.019	5,730	3/06/2016
3/06/2016	6 B	100,000	0.021	2,130	7/06/2016
7/06/2016	6 B	100,000	0.021	2,130	9/06/2016
27/06/2016	6 B	105,000	0.022	2,345	29/06/2016
29/06/2016	6 B	100,000	0.021	2,167	1/07/2016
29/06/2016	6 B	300,000	0.022	6,630	1/07/2016
11/07/2016	6 B	41,918	0.024	1,036	13/07/2016
14/07/2016	6 B	400,000	0.024	9,630	18/07/2016
9/11/2016	6 B	700,000	0.01	7,030	11/11/2016
15/12/2016	6 B	100,000	0.008	830	19/12/2016
17/02/2017	7 B	893,943	0.009	8,075	21/02/2017
20/02/2017	7 B	106,057	0.01	1,061	22/02/2017
14/03/2017	7 B	1,000,000	0.012	12,037	16/03/2017
22/03/2017	7 B	1,000,000	0.011	11,034	24/03/2017
24/03/2017	7 B	100,000	0.012	1,230	28/03/2017
24/03/2017	7 B	870,520	0.013	11,381	28/03/2017
24/03/2017	7 B	1,000,000	0.013	13,040	28/03/2017
24/03/2017	7 B	1,000,000	0.012	12,037	28/03/2017
27/03/2017	7 B	1,000,000	0.014	14,043	29/03/2017
29/03/2017	7 B	148,844	0.014	2,114	31/03/2017

14,328,955 280,572